


/a‘ﬁ




-l

Bolts and nuts for i.”.Hor.Joint

D.N.bolt -do-
| Differ bolt -do- i
. special ~do=
| Studs and nuts ~doe

| piffer.bolt for I.P.@yl.Hor.Joint.
. Bglts and nuts ~do=
. 8pecial bolt
Diff.bolt for L.P.gyl.Hor.Joint.
Ji Ora.4 fitted Bolts and muts for L.P.Cyl.ider.Joint.
| D.¥.Bolte  ~do-
| Gtuds and nute 3/4 x 2.3/8 H.P.Turbine bearings. v

«do= "/8" x 3 7 -do-

-do= 3/4 x 2.11/16 -do-
: Bolts and Nuts 3/é x 3 ~do= £
i Collar atud and nut 7/8 x 3.1/2 ~doe :

| 5tud and nut 1.1/8 x 4 L.P.Turbine bearings v
®* (from stock) 7/8 x 3.3/8 -do=
Bolh and nuts 7/8 x 4 -do=
fcollar stud and nut 1.1/8" x 4.5/8 L.P.Turbine bearings
itudl and nuts 1.1/8 x 4 Gear Case H.P.18t Red.Bearings.
~doe (from stock) 3/4 x 3.3/16 «doe
~doe 1.3/8 x 5.1/8 Gear Uase 2nd Red.Bearings.
~do= (from stock) 3/4 x 3.11/16 edo=
~do= 1.1/2 x 5.7/8 Gear case lMain wheel tcarings.
~doe (from stock) 3/4 x 3* doe ~dp -

(Per cent blading in finished lengths, with packing and shrouding
| Compl ete.

¥ oll cooler tubes.

(Bolts and nuts for esch size of rotor, main gear wheel and -
‘pinion bearings.

&)Qt shaft ccupltng bolts and nutes = 9 of f. e

Bet of gtuds and nuts for one propell er blade, stowed in racks,
(% blade studs, 10 nuts and 10 lock pins.

(219




ad

trcms

B

T

o

h"




e
I
-

]
et
o

<
&

-

<o R e e s S e Mkt

"

S o 3




A Jil, FUFL A58
ptrainer bage for suetion strainer.

T8 ‘

o 4 L] . » “.‘m” "

{6 gpare thermome ters.

§ bur ser bodies.

burner valves

Blank Union nuts.

« 8ft 1 ength of soft copper pipe.
, ,\ eheek plates, 9 rt. and © left.
e Cpown platee.

} Durner eape.

B0 Burner nozzles.

'ao Burner di aphragas.
| - 2 flow auxiliary oil heater wi th di scharge stirainer
% | pressure gsuges, slse suotion hose No.5 Dburner and cocks.
£ ‘xpanders for heater tubes.

Tools for ncmins burn ers.

set of spanners for oil fuel pu;-.'

Uil U EL 4
Q1L FUFL

- 9.7/8 and 4 = 5.7/8 Ring Valves.
18 - 14 springe
§ - 7" pieton rings for 1 pump.

. 1 i X 1 :i.l;;., ,
1 G L, PN

b wanners.
levers in 2 o ok 8.
Lifting screws.

. %4 ‘\ “pring pushers and 7 springs.

i Amature for motor.

30 Jointing washers.

gl blank plugs for closing holes in headers.
[0 studs and nuts.
5  dogs or claups.

| © 2020

\ @ Lloyd's Register
sl Foundatiop

alr of asbestos gloves.




1 C.1.Protector, 1 Hogzle wi th holder for lst gtagze and 12 Nozzles
with holder for 2nd gt age ejector.

1 ¢.M.valve seat, guard, washers, stud, nut and ¥.V.plate 4 dia.
1 Box epanner and pedger.

1 ¢.I.Protector, 3 lossles with holders for 1at stage and 7
Sozzles with holder for 2nd stage ejector.

g G.¥.Valveseats, guards, washe rs, stude, nuts and .V.plate
4 dia.

6 - 5/8 8.D.copper tuben 2'6.1/8% x 14 ¥W.G.

? 1 G.i.Protector including 9 nozzles witna holder.

ﬁ 1 G.i.valve, seat, guard, waaheT, nut, atud and monel plate valve.

15 8. D.copper tubes 174" x 5/8" x 14 ¥.G,

% 2 Pump impell ers.
6 Hoffman ball bearings.

4 Skefke ball bearings.

i - 1} stem valve and seat.

2 sets of ghaft sl eeves.

1‘ 8 nests of esrbom rings, with aprings.

2 special govemor gprings ( 2 step gear eprings (Helleal) )
2 stop gear springs (fiat)

| 4 kneck-out knod springs.

Heater Condenger.

167 tubes 4'2{" x 5/8" 0.D. 8 9.4,

334 ferrules.

334 grommets for ferrules.
1 grommet gulde.

1 ferrule driver.

.” ppl ementary Vged Valves.

2 gland 1eathers.

2 stesl springs. | @ 2020

1 Honel metal seat. ;

: 4 s wawranus . BER Lloyd’s Register
il FOUndationdze




'l -

1 copper float.
v 4 2 gland eup leathers.
1 steel sprimg 15" lemg x 5" N.D. 9/16 Rd.see.l0 colls.

80 - 14 x ' 43°
14 = 1* = §°104° = 12 V.0, <=dee

x 12 7.6.Copper Tubes.

Sumberland 23 sotroly
‘1 pair of ball bearings.
L.P.Brush hol der.

set of A.T.prush holders.

 §

‘ 1

% 1 = 150 amp.fuse carrier.
b §
9

zunme tal valve sunrds.

k4
¥
8 rubber valves.
8
2

spanners in rock.

39 sporges. ;

fo ilors,

48 Boiler door joinis.

A Gauge column,

80 Boiler plain tubes,

6 Bpiler stay tubes,

2 Safety walves springs for single onded boiler,
’ L L L “ deuhlc L] L]

24 Rings for boilar gouge glagsen,

24 Gauge glasses,

1 feed check valve lor single ended joi ™. @ 2020
. " * yalves " double » "

' sannole doocs. Lloyd's Register
Foundatioié®




- e

80 Pire bricks,

| 2 ewt, of rire clay,

8 evt, of lime, whiie slaked,
1 oil fuel flash point tester.

A D.(2).

Y © 2020
E B¢ Lioyd's Register

« Foundatiof

L S i :




